mB Y4 X Ehh | R AR RITHN fifi A% k=
BHN 6 =i 5kg 5 kg 900 EE
BHHN 1B =TI 5kg e kg 850 EiE
BHN 8 =i 5kg & kg 800 EiE
7o 20/2128 all 5kg & kg | 1,000 EiE
1) 9kg R=E 1A & kg | 1,500 Er EE
1) 8kg R=E 1A & kg | 1,400 EX EE
7Y 6/7kg R=E 1A 8 kg | 1,350 EX EE
75Y 3E =271 10/13kg e kg 800 EiE
X¥H 2kgE® k. 1A & kg | 2,500
hyFt 4E =874 7.5kgUP 8 kg | 1,400 # BEH
< B 5 Edoa S5kg& & kg | 3,300 TH
17 19/202 RB=E 2kg i kg | 1,600 AIR{E
BiEJJES 3kegE ERSE 1A & kg | 2,400
HLoT N 100g P P 600
LL#& 7B 518 1kg P kg | 1,400
/') 30/50g FE 1 kg | 2,000
/<5 60/80g FE & kg | 2,200
HHT 100/150g R & kg | 1,900
EFUINE 2 500g P P | 2300
yJH 20/30g itiEE & kg | 2,000
BEN(E 20/40g /A 1& kg | 1,900
BiEEH+* S #9120¢g R & & 500
EiEEH+* M #9150g RIG & & 600
XAREH* #9500¢g 3= 1 & | 1,000
XREH* #9400g ®ms & 1& 800
XREHT #9300g =] 1 1& 650




